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GDB

1
Echo Echo
2
Milner CCS ;
0: ;(bind srv “server:127.0.0.1:2005™)
1: ;(bind srv_res "target:echos:28") 15: ;; Echo client
2: ;; Timer 16: (define Recvl()
3: (define Timer() 17:  (srv_res(yyy):
4:  (start(init_v):Timerl(init_v))) 18: ;  (srv(yyy):
5: (define Timerl(time) 19: ; (~display(" ",yyy):Send(100,n-1))))
6: (~tick(time-1):tick(time): 20: (Send("'TEST",n-1))))
7 (if (time=0) 21: (define Recv() (Recvl++Timeout))
8 (~timeout(TRUE) :stop) 22: (define Send(x,n)
9 (Timerl(time))))) 23: (if (n=0)
10: (define Timeout() 24: (STOP)
11: (timeout(zz): 25: ((~srv(x):~start(5):
12: (if (z2) 26: (Recv)))))
13: (~display("TIMEOUT™): 27: (define Echo_client()
~srv("'quit’™):stop) 28:  (Send(100,5)]|Timer))

14: (stop)))) 29: ;; Echo server

30: (define Echo_server()

31:  (srv(req):~srv_res(req):STOP))

32: ;; Initial process

33: (Echo_server || Echo_client)

2 Echo
> ./rces —f “<> I(yyy=x)"
-f LTL

RCCS>(load(*“echo.ccs™))

Emptyness: FALSE
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Emptyness: TRUE

echos 28

> ./rces —f “<> (yyy=x)” —d echos

echos
Emptyness: FALSE

Emptyness: TRUE
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2
33 (Echo_client)
sev_res



http.//www4.ocn.ne.jp/~presys/
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